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Dialogue 1

Answer questions 1 to 3

Question 1

JA82BJ was assigned ...

1. OSUMI 3 departure.

2. OSUMI 4 departure.

3. SOUTH 3 departure.

4. SOUTH 4 departure.
Question 2

The assigned altitude for JA82BJ was changed to ...

FL150.
FL170.
FL190.
FL210.

i

Question 3

JAS82BJ could expect their departure at or later than 0300, due to ...

gate congestion.

runway condition.
traffic congestion.
weather condition.

PO
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Dialogue 2

Answer questions 4 to 6

Question 4

The trouble was caused by ...

flight instrument.
auxiliary power unit.
the engine starter.
hydraulic system.

el e

Question 5

Controller instructed JA82BJ to return to ...

spot L3.

maintenance area.

their departed spot.

the spot next to the one they requested.

PO

Question 6

The pilot requested to cancel their flight plan because they ...

couldn’t return to spot L3.

had completed their mission.

would not be able to finish this flight.
ordered another flight from their company.

L=



Dialogue 3

Answer questions 7 to 9

Question 7

The problem with Niigata airport was ...

1. removal of an aircraft.
2. traffic congestion.
3. weather.
4. curfew.
Question 8

The original alternate airport was ...

1. Niigata.

2. Yamagata.

3. Sendai.

4. Fukushima.
Question 9

The pilot changed his alternate airport because ...

1. Sendai weather was below minimums.

2. Fukushima weather was below minimums.

3. Yamagata airport will be out of operational hours.
4. they have a curfew at Sendai airport.



Dialogue 4

Answer questions 10 to 12

Question 10

The controller approved the pilot to ...

hold short of active runway.
make a right turn departure.
make a straight out departure.
make a left turn departure.

PO

Question 11

The pilot could not depart because of ...

a radio problem.

a runway problem.
landing gear trouble.
trouble with the engine.

i

Question 12

The controller finally told the pilot ...

to wait where he was.

to taxi off the runway.

that a fire truck was on the way.
that an ambulance was on the way.

PO



Dialogue 5

Answer questions 13 to 15

Question 13

The pilot reported the trouble with the ...

under carriage.

flight control system.
engine control system.
pressurization system.

PO

Question 14

The controller approved the pilot’s request to change heading in order to...

check his flaps condition.
attempt another approach.
fly to his alternate airport.
return to departed airport.

i

Question 15

The pilot also requested to make ...

1. immediate landing.
2. visual approach.

3. low approach.

4. fuel jettison.



Dialogue 6

Answer questions 16 to 18

Question 16
The pilot reported ...
1. avictim.
2. a fire of a house.
3. acrush of an aircraft.
4. a traffic accident.

Question 17

What was the action taken by the controller ?

1. They broadcasted it to other aircraft.

2. They filed the report.

3. They arranged the rescue team.

4. They reported it to the fire station.
Question 18

Where was the position of JA123G ?

1. Northwest of Hongo VOR
2. Southwest of Hongo VOR
3. Northeast of Hongo VOR
4. Southeast of Hongo VOR



Dialogue 7

Answer questions 19 to 21

Question 19

The pilot requested to change altitude because of ...

icing condition.

wake turbulence.

12,000 ft was reported to be clear of icing.
moderate turbulence.

PO

Question 20

The PIREPS reported that ...

1. there was turbulence reported at 12,000 ft.

2. there was icing condition reported at 12,000 ft.

3. there was no icing condition reported at 12,000 ft.
4. 12,000 ft was clear of traffic.

Question 21

The pilot was not able to accept 12,000 ft because of ...

limited fuel condition.

the aircraft's performance.
another traffic.

moderate icing condition.

PO



Dialogue 8

Answer questions 22 to 24

Question 22

The position where the pilot reported was ...

1. northwest of Kagawa VOR.
2. west of Kagawa VOR.
3. southeast of Kagawa VOR.
4. east of Kagawa VOR
Question 23
The pilot requested ...
1. to extend their enroute time.
2. the information of enroute cloud condition.
3. the traffic information.
4. to change the altitude.

Question 24

The traffic which affected to JA123G was ...

below and insight.
below but negative contact.
above and insight.
above but negative contact.

PO



Dialogue 9

Answer questions 25 to 27

Question 25

The first pilot's request was not approved because of ...

traffic.

minimum enroute altitude.
boundary of control area.
restricted flying area.

PO

Question 26

The instruction by the controller was to ...

1. cross 50 miles Southeast of Shimizu at or below 12,000 ft.

2. cross 50 miles Southwest of Shimizu at or below 12,000 ft.

3. cross 50 miles Southeast of Shimizu at or below 13,000 ft.

4. cross 50 miles Southwest of Shimizu at or below 13,000 ft.
Question 27

What was the initial altitude of JA123G ?

1. 11,000 ft.
2. 13,000 ft.
3. FL150.
4. FL170.



Dialogue 10

Answer questions 28 to 30

Question 28

The captain reported the copilot was ...

bleeding from his chest.
difficult to walk.

having a breathing problem.
having headache.

PO

Question 29
The pilot requested ...
1. a precautionary landing.
2. an emergency landing.
3. atechnical landing.
4. an immediate landing.

Question 30

JA123G asked the controller to ...

stand by at the gate.

stay on the runway upon arrival.
confirm medical personnel standing by.
allow a low approach.

PO



Dialogue 11

Answer questions 31 to 33

Question 31

The pilot requested hold over ANPAN initially because ...

1. wind-shear was reported on final.

2. ATC radar depicted strong echo on final.

3. rough air condition was reported on final.

4. airborne radar depicted strong echo on final.
Question 32

Latest wind ...

1. satisfied aircraft limitation.

2. exceeded their headwind limitation.

3. was over their crosswind limitation.

4. did not satisfy their tailwind limitation.
Question 33

The controller instructed heading and altitude to the pilot because of ...

an approaching traffic.
another landing aircraft.
a takeoff aircraft.

a missed approach traffic.

PO



Dialogue 12

Answer questions 34 to 36

Question 34

Runway closed because of ...

1. aircraft fire on the ground.

2. encountered bird strike.

3. rejected takeoff.

4. thunderstorm approaching.
Question 35

The instruction to JA82BJ was ...

1. missed approach.

2. break to Katsurahama.

3. hold over Kochi VOR.

4. divert to another airport.
Question 36

The intention of JA870Q was ...

landing due to critical fuel condition.
change destination without delay.
holding up to 30 minutes.

wait until runway open.

PO



Dialogue 13

Answer questions 37 to 39

Question 37

What was the trouble of JA123G?

1. The malfunction of the instruments.

2. The malfunction of the steering system.

3. The malfunction of VHF radio.

4. The malfunction of the engine.
Question 38

What was the suspected cause of the trouble?

1. Maintenance problem.
2. Wind condition.
3. Ingestion of foreign object.
4. A bird strike.
Question 39
JA870Q requested to ...
1. make a runway check.
2. drive the birds away.
3. change the runway in use.
4. return back to ramp.



Dialogue 14

Answer questions 40 to 42

Question 40

What was the problem with JA123G?

1. The malfunction of the flaps.

2. The malfunction of the landing gear.

3. The sudden change of weather.

4. A medical problem of the trainee.
Question 41

The condition which the controller told them was ...

1. low visibility at Takamatsu airport.

2. low ceiling at Takamatsu airport.

3. low visibility at Okayama airport.

4. low ceiling at Okayama airport.
Question 42

What was the reason why the pilot made his intention?

Land at Okayama airport due to company reason.
Land at Okayama airport due to safety reason.
Land at Takamatsu airport due to company reason.
Land at Takamatsu airport due to safety reason.

PO



